REVISION TEST 2 : Schofield & Sims Mental Arithmetic 6 Answers SECTION 3 1 Test 1
: 1 What is the remainder when 2 Y
_— 323 is divided by 77 r 1 o
11 =
200 2 {930 +470)+14= o 104
: 10 -
R 3 Write in digits eighty-nine hundred. 8900 .
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e W 4 Express + as a decimal. S 2E ?
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e 100 2 & 7 05x(25+ 72) = 4. g
10 8. Round 5.0827496 to the 4 -
: nearest thousandth. 5.083
50 . : 9 Write 1286 correct to two ‘
5 _ N . . 2
; RO SRS N SO : significant figures, 1300 ‘ :
CBTokyo Lo : N
{Sydney b ? 10 fa=4,b=5andc=6, find o
0 , : i _ o L T : the value of a* + b* + . 77 0 0 q 2 T s 9 '16 M R x
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Month : Month noou+tl= SOu= e ’ 1 Write down the comner coordinates of triangle A,
B Lo, i . - - " \
Graph of total monthly rainfail Graph of maximum monthly temperature 12 Vk\{nte the next two terms of ( o, o I teo A |
“for Tokyo, Japan and Svdney, Austrafia for Tokye, Japan and Svdney, Australia the sequence. o -2 Triangle Ais translated to position B. Write down the
100,10, 1,01, 0.01 0061 corner coordinates of the triangle when in position B.
Look carefully at the graghs above and answer the following questions. ( 5w 8, A &, @
26 Which is the wettest month in Sydney? Apri 3 What happens to the x-values of the coordinates of the ?
- : 1 |buy 16 slices of cheesecake at triangle when it is translated to position B?
27 Which month shows the greatest difference between the £2.75 2ach. How much change increased by §
i i ' i ? Sertembe ? 5 .
rainfall in Tokyo and the rainfall in Sydney? , September ; from £507 £4 , 4 What happens to the y-vatues of the coordinates of the
28 In which month is the rainfall in Tokyo and Sydney most nearly the same? . Apri 2 The price of a £9800 car rises L triangle when it is transiated to position B
) ' by 6%. What is the new cost? £1‘“";:58 EE&}f 'i-he SEIMe
29 How much rain falls in Tokyo during its driest month? SHmE ; 3 2.54¢m = Tin. 75mm is approximately 3in 5 Use your answers to guestions 3 and 4 to complete the -
: - _ ' . . . B statement; the mapping {x, y) = (x + 5 , ¥} translates :
30 What is the range of rainfall in Sydney? ... 70mm ' 4 40cm is approximately in. : tain triangle A to position B. e
—_ . . 5 How many days inclusive from di f the t le when
3t Which is the hottest month in Svdney? Decambpr y aay 6 Write down the corner coordinates of the triangle when .
yaney L eETRE 15.10.2017 to 05.02.20187 f14d rranslated to position C. o
32 Which is the coldest month in Tokyo? January ' 6 In metres, find the distance travelled (oo, DO 3,00 1, )
in 2min at a rate of 16m/s. 1920m SRR
32 Which month shows the greatest difference between the |+ 7 Use your answer to question 6 to complete tne lates S
temperature in Tokyo and the temperature in Sydney? , lanuary 7 Find the diameter of a circle whose statement: the mapping (x, y) = (x, y + 7 ) transla es%__.:
circumference is 157mm. triangle A to position C, ST
34 in which month is the maximum temperature in : 8 Write down the corner coordinates of the triangle when
; =314 ’ R
Tokyo and Sydney most nearly the same? L septamber . e 50mm translated to position D. s
. _ 8 Th 3, 4 5, 6 4, _f: ) S
35 What is the range of maximum temperature in Sydney? - A 8 : s'n’?ilsaerasrhea ( 3o Al ? 3
:_' - 1.6cm mitar Shapes 9 Complete the statement: The mapping (x, y) = |
36 What is the temperature in Tokyo during the wettest month? , o 24°C (e?wrr;rése?ent (x+ 3 ,y+ 4 )tanslates triangle A to position D"
: 3mm xcm 10 Complete the statement: The mapping (x, ¥) =*
. . . ‘ of : P
37 Between which two months in Sydney is there no change in ! Fmtdhi other) 0.50m (x4 9 ,y+ 3 )translates triangle Ato posmon E
both rainfall and temperature? June, July ! ' : S . .
7 9 What is the number of 1 Triangle A s translated by the mapping of N
38 What is the mean maximum temperature in Tokyo during its - (x+7, y +8). Write down the values of the comer
_ y 9 axes of symmetry lated by this
hottest four-month period? ZEog of this shane? i coordinates when the triangle is transiate y I
o _ pes oo i mapping to its new position. RO
3% What is the total rainfail in Sydney during its four hottest months? 335mim (7, & 0, 100
. . _ ‘ _ 0 & ' t|on of
40 What is the total rainfall in Tokvo d ‘ , o 10 Find the cost of six bocks at £4.95 12 On the grid above sketch in the new posa
yo during its three coldest months: 185 mim each 10 the nearest £1. £30 . the triangle. ED
32 . ' 33




